

A new proof of Y-J inequality

Jian Shi

College of Mathematics and Information Science
Hebei University, Baoding 071002, China

Junmin Han

School of Mathematics and Information Science
Weifang University, Weifang 261061, China

Jianzhi Cao

College of Mathematics and Information Science
Hebei University, Baoding 071002, China

Abstract

In this paper, we shall show a new proof of Y-J operator inequality.

Mathematics Subject Classification: 47A63

Keywords: Y-J inequality, Furuta inequality, positive operators

1 Introduction

A capital letter, such as T , stands for a bounded linear operator on a Hilbert space.

In [2], J. Yuan and G. Ji proved the following operator inequality for three positive operators.

Theorem 1.1(Y-J inequality, [2]). If $A \geq B \geq C \geq 0$, $0 \leq q \leq 1$, $r, t \geq 0$, then

$$A^{q+r} \geq [A^{\frac{r}{2}}(B^{\frac{t}{2}}C^pB^{\frac{t}{2}})^sA^{\frac{r}{2}}]^{\frac{q+r}{(p+t)s+r}} \quad (1.1)$$

holds for $p \geq 1$, $s \geq \frac{q}{p+t}$.

Y-J inequality plays an important role on the development of the theory of positive linear map, see [2] for details. The authors proved it by operator monotonic function. In this paper, we shall show a new proof of Y-J inequality.

In order to show our new proof, we list a famous operator inequality first.

Theorem 1.2(Furuta inequality, [1]). If $A \geq B \geq 0, r \geq 0$, then

$$A^{1+r} \geq (A^{\frac{r}{2}} B^p A^{\frac{r}{2}})^{\frac{1+r}{p+r}} \tag{1.2}$$

holds for $p \geq 1$.

2 Main Result

In this section, we shall prove Y-J inequality by a new way.

Proof. Applying $B \geq C \geq 0$ to Furuta inequality, then

$$B^{1+t} \geq (B^{\frac{t}{2}} C^p B^{\frac{t}{2}})^{\frac{1+t}{p+t}} \tag{2.1}$$

holds due to the facts that $p \geq 1$ and $t \geq 0$.

Because $0 \leq \frac{1}{1+t} \leq 1$, applying Löwner-Heinz inequality to (2.1), we have

$$B \geq (B^{\frac{t}{2}} C^p B^{\frac{t}{2}})^{\frac{1}{p+t}}. \tag{2.2}$$

Let $A_1 = A, B_1 = (B^{\frac{t}{2}} C^p B^{\frac{t}{2}})^{\frac{1}{p+t}}$. Notice that $A_1^q = A^q \geq B^q \geq B_1^q \geq 0, \frac{(p+t)s}{q} \geq 1$ and $\frac{r}{q} \geq 0$. By Furuta inequality, we have

$$(A_1^q)^{1+r/q} \geq (A_1^{q\frac{r/q}{2}} B_1^{q(p+t)s/q} A_1^{q\frac{r/q}{2}})^{\frac{1+r/q}{(p+t)s/q+r/q}}. \tag{2.3}$$

Replacing A_1 by A and B_1 by $(B^{\frac{t}{2}} C^p B^{\frac{t}{2}})^{\frac{1}{p+t}}$ above, then we can obtain (1.1).

ACKNOWLEDGEMENTS. The author Jian Shi (corresponding author) is supported by Hebei Education Department (No. ZC2016009), Hebei University Funds for Distinguished Young Scientists and Natural Science Foundation of Shandong Province (No. BS2015SF006). J. Han is supported by Natural Science Foundation of Shandong Province (No. BS2015SF006). J. Cao is supported by Guidance Program for Scientific and Technological Research and Development of Baoding City (No. 15ZG022), Natural Science Foundation of Hebei Province (No. A2016201206) and Hebei Education Department (No. QN2016030).

References

- [1] T. Furuta, $A \geq B \geq 0$ ensures $(B^r A^p B^r)^{1/q} \geq B^{(p+2r)/q}$ for $r \geq 0, p \geq 0, q \geq 1$ with $(1 + 2r)q \geq p + 2r$, Proc. Amer. Math. Soc., 101 (1987), 85-88.
- [2] C. Yuan and G. Ji, Extensions of Kadison’s inequality for positive linear maps, Linear Algebra Appl., 436 (2012), 747-752.

Received: June, 2016